JP Maths Revision

Factorising Quadratics (monic)
Exam Style Questions

1. Factorise x2 +5x+ 6

3
3

CSU’% )(X*Zj ........ (2 marks)
2. Factorise x2 + 7x + 12
(:\’ Y .-‘3- -
4o =4
<x+ LO()USB ....... (2 marks)
3. Factorise x2 + 10x + 24
_G/ X 4 -2y
E + _Li =0
(e )(x44)

................................ (2 marks)
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4. Factorise x2 + 6x + 9

3 « 2 _ q = CQ(F&B\C ’JC+3)
’:; . 3 - é\ = CX‘\‘%\L
2
......... C>U3S (2 marks)
5. Factorise x2 —4x + 3
—E’ % .__l = 3
-3 4 L o=-4
[I’SBCXP\\ ....... (2 marks)
6. Factorise x2 +x— 12
H x;‘?_> = -\
i +735 =)
(xw ) (x-3)

................................ (2 marks)




7. Factorise
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x2 —x — 56
23 =-s¢
"Ry T =
(DC-%)(XA—?} ......... (2 marks)
8. Factorise x2 — 6x + 8
2 x = =8
A, % =-¢
....... Cx,q)Cx—z) (2 marks)
9. Factorise x2 — 3x — 18
-6 w3 =-18
. 3 =-3

(I "G)b“’g) ........ (2 marks)
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10. Factorise x — 5x — 84
Sz R o-- gy
-1z * =-5
ZZ'{?’)(DCJFQB (2 marks)
11. Factorise x2 — 12x + 36
= (x- ¢
L x-6-3¢ - (= 65 (x-¢)
A = (x-¢)
2
........... (X*é) (2 marks)
12. Factorise x —9
S -3
—_— >< - - q
3 L2 =0

.../7(+ 3) CX’S) (2 marks)
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13. Factorise x2 — 64

(1&836908) (2 marks)
14. Factorise x2 — 169

(7“'\%3(%”%3 (2 marks)
15. Factorise x2 — 196
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16. Anita’s garden is rectangular in shape and has length (x + 7) m and width (x + 6) m.
At the end of her garden, she has a shed of length (x + 6) m and width 5 m.
The rest of her garden is made up of grass.

. : 2
Show that the area of the grass can be written in the form (x + a)(x + b) m , where a
and b are integers to be determined.

(x+7)m

(x + 6)m Grass Shed

5m

1

2
x4 7et Ot 42

QW&.%wduuf: (24 ¢)( 23)

2
= X t123x 447

Ao Shede= S (x+C) = 5x420

ANA gmgg = (JCZHZXM?,)~(§>H§O)
= DCZH%X 2L - 5x-30

= x 7 £ % +(2

= (2 46)(x12) m"

(216 (212) s mane




